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Exam 5

I. (2.5 points ). 

Suppose that a bond having no expiration date has a face value of $10,000 and pays a fixed amount of interest of $1000 annually.  Compute and enter in the spaces provided either the effective interest rate which a bond buyer could receive at the new price or the bond price required to receive the interest rate shown.



Bond price
Interest rate (%)



$______
12.5



9,000
______



______
10.0



______
8.3



15,000
______
II. (6 points ). 

Use the table below for the next set of questions.  Column 1 shows the interest rate, column 2 shows the demand for money, and columns 3–5 show the supply of money.  All quantities are in millions ($).





(1)
(2)
(3)
(4)
(5)




Interest rate
Dm
Sm1
Sm2
Sm3




10%
$1,500
$2,200
$2,500
$1,800




8
1,800
2,200
2,500
1,800




6
2,200
2,200
2,500
1,800




4
2,500
2,200
2,500
1,800




2
2,800
2,200
2,500
1,800


(a) Given the demand for money, what will the equilibrium interest rate be for each of the different supply of money schedules?

(b) Assume the economy was in equilibrium at Dm and Sm1.  If the FED decides to change the money supply to Sm2 and the interest rate stays the same, how much of a shortage or surplus in the money supply will there be?  Describe what will happen in the money market and the bond market to eliminate the surplus or shortage and restore a new equilibrium interest rate.



(c)
Assume the economy was in equilibrium at Dm and Sm1.  If the FED decides to change the money supply to Sm3 and the interest rate stays the same, how much of a shortage or surplus in the money supply will there be?  Describe what will happen in this money market and the bond market to eliminate the surplus or shortage of money and restore a new equilibrium interest rate.

III. (5 points ). 

Using the balance sheet below and assuming a required reserve ratio of 33%, answer the following:
  (a) 
What is the amount of excess reserves?
  (b) This bank can safely expand its loans by what amount?
  (c) By expanding its loans by this amount in part (b), its checkable deposits would expand to what amount (if all loans were made to checking account customers)? 
 (d) If checks clear against the bank equal to the amount loaned in (b), how much would remain in reserves and in checkable deposits?
Assets





Liabilities                                    



Reserves
$  60,000
Checkable Deposits
$150,000



Loans
60,000
Capital Stock
300,000



Securities
40,000



Property
290,000
IV. ( 6 points ).

Suppose you deposit $20,000 into your checking account. Assume that all banks have a reserve ratio of 15%.


a.
How much additional money can your bank lend out?

b.
        What is the money multiplier equal to?

c.
      How much money could eventually be created by the banking system from your deposit?

